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1DPD�0DKDVLVZD ��$GLW\R�1XJURKR��6�.RP

3URJUDP ��$QJNDWDQ � (NVHNXWLI�0XGD�$QJNDWDQ���

-XGXO�7HVLV � 3HUDQFDQJDQ� 3URJUDP� 3HQLQJNDWDQ� .XDOLWDV�

3HOD\DQDQ� 3DGD /D\DQDQ� � .ODLP� %3-6�

.HWHQDJDNHUMDDQ�&DEDQJ�.DUDZDQJ

3DGD� WDQJJDO� �� 6HSWHPEHU� ������ WHUMDGL� SHUXEDKDQ� SHUDWXUDQ�

SHPHULQWDK�� GLPDQD� -+7� EROHK� GLDPELO� VHWHODK� WHQDJD� NHUMD� EHUKHQWL�

EHNHUMD� WDQSD� DGD� PDVD� WXQJJX� �� WDKXQ�� +DO� WHUVHEXW� PHQ\HEDENDQ�

ORQMDNDQ� SHVHUWD� \DQJ� PHQJDPELO� NODLP� -+7� WLGDN� GDSDW� GLEHQGXQJ��

6HEHOXPQ\D�.DQWRU�%3-6�.HWHQDJDNHUMDDQ�&DEDQJ�.DUDZDQJ�PHOD\DQL�

VHNLWDU����RUDQJ�SHUKDUL� NHPXGLDQ�PHQLQJNDW�PHQMDGL�����RUDQJ�SHUKDUL��

3HQLQJNDWDQ� LQL� EHUGDPSDN� ODQJVXQJ� SDGD� NXDOLWDV� SHOD\DQDQ� \DQJ�

GLEHULNDQ� ROHK� %3-6� .HWHQDJDNHUMDDQ� &DEDQJ� .DUDZDQJ� .XDOLWDV�

SHOD\DQDQ�GLEHQWXN�GDUL���IDNWRU�XWDPD�\DLWX�SHUVHSVL�SHODQJJDQ�WHUKDGDS�

SHOD\DQDQ� \DQJ� GLWHULPD� ROHK�PHUHND� VHFDUD� Q\DWD� EHUEDQGLQJ� GHQJDQ�

SHOD\DQDQ�\DQJ�GLLQJLQNDQ�DWDX�PHUHND�KDUDSNDQ��6HEDJDL�OHPEDJD�\DQJ�

EHUJHUDN�GL�ELGDQJ�DVXUDQVL�VRVLDO��NXDOLWDV�SHOD\DQDQ \DQJ�GLEHULNDQ�ROHK�

%3-6� .HWHQDJDNHUMDDQ� PHQMDGL� QLODL� XNXU� XQWXN� NHSXDVDQ� SHODQJJDQ�

WHUKDGDS� MDVD� \DQJ� GLWHULPD�� 'DUL� KDO� \DQJ� GLVHEXWNDQ� GLDWDV� %3-6�

.HWHQDJDNHUMDDQ� SHUOX� PHUDQFDQJ� SURJUDP� SHQLQJNDWDQ� NXDOLWDV�

SHOD\DQDQ� SDGD� OD\DQDQ NODLP� %3-6� .HWHQDJDNHUMDDQ� GHQJDQ�

PHQJLGHQWLILNDVL� DWULEXW�DWULEXW� DSD� VDMD� \DQJ� PHQMDGL� SULRULWDV� GDODP�

PHQLQJNDWNDQ� NXDOLWDV� SHOD\DQDQ� NHSDGD� VHOXUXK� SHVHUWDQ\D GHQJDQ

PHWRGH�6(5948$/�
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6WXGHQW¶V�1XPEHU � ����������

6WXGHQW¶V�1DPH ��$GLW\R�1XJURKR��6�.RP

3URJUDP���%DWFK ��(NVHNXWLI�0XGD�%DWFK ��

7KHVLV�7LWOH � 3HUDQFDQJDQ� 3URJUDP� 3HQLQJNDWDQ� .XDOLWDV�

3HOD\DQDQ� 3DGD� /D\DQDQ� � .ODLP� %3-6�

.HWHQDJDNHUMDDQ�&DEDQJ�.DUDZDQJ

2Q� 6HSWHPEHU� �VW�� ������ WKHUH� ZDV� D� FKDQJH� RQ JRYHUQPHQW�

UHJXODWLRQV��ZKHUH� -+7� �3URYLGHQW� )XQG�%HQHILW�� FDQ EH�ZLWKGUDZQ DIWHU�

WKH� ZRUNHU KDG� VWRSSHG� ZRUNLQJ� ZLWKRXW� D� ��\HDU� ZDLWLQJ� SHULRG�� 7KDW�

VLWXDWLRQ� KDV� FDXVHG� D� VXUJH� LQ� FXVWRPHUV ZKR� ZDQWHG� WR� WDNH� WKDW�

EHQHILW�� 3UHYLRXVO\� %3-6� .HWHQDJDNHUMDDQ� .DUDZDQJ� %UDQFK� 2IILFH�

VHUYHG DERXW����SHRSOH�SHU�GD\��DQG�WKHQ�LW�LQFUHDVHG�LQWR�����SHRSOH�SHU�

GD\�� 7KLV� QXPEHU� HVFDODWLRQ KDV� D� GLUHFW� LPSDFW� RQ� WKH� VHUYLFH TXDOLW\

SURYLGHG� E\� WKLV� EUDQFK� RIILFH� 6HUYLFH� TXDOLW\� LV� HVWDEOLVKHG� E\ ��PDLQ�

FRPSDULQJ IDFWRUV VXFK�DV� WKH� SHUFHSWLRQ� RI� FXVWRPHU� DERXW� WKH� VHUYLFH

UHFHLYHG�E\�WKHP�WKDW� LV�VLJQLILFDQWO\�FRPSDUHG�ZLWK� WKH�VHUYLFH�WKDW� WKH\�

GHVLUHG�RU�H[SHFWHG��$V�DQ�LQVWLWXWLRQ�WKDW�LV�HQJDJHG�LQ�VRFLDO�LQVXUDQFH��

WKH� VHUYLFH� TXDOLW\� SURYLGHG� E\� %3-6� .HWHQDJDNHUMDDQ� EHFRPHV WKH�

PHDVXULQJ� YDOXH� IRU� FXVWRPHU� VDWLVIDFWLRQ� RQ� VHUYLFHV� UHFHLYHG�� +HQFH��

VSHFLDO� DWWHQWLRQ� VKRXOG� EH� SXW� RQ� WKDW PHDVXUHPHQW� RI� VHUYLFH� TXDOLW\�

)URP�WKLQJV�PHQWLRQHG�DERYH��%3-6�.HWHQDJDNHUMDDQ QHHGV WR�GHVLJQ�DQ

LPSURYLQJ� SURJUDP� RI� VHUYLFH� TXDOLW\� RQ� FODLP VHUYLFHV� RI� WKH� EHQHILW�

SURYLGHG E\� LGHQWLI\LQJ� DQ\� NLQG� RI DWWULEXWHV� WKDW� DUH� SULRU� IRU LPSURYLQJ�

WKH�VHUYLFH�TXDOLW\�IRU DOO�LWV�FXVWRPHUV E\�XVLQJ 6(5948$/�PHWKRG�

.H\ZRUGV� 6HUYLFH�4XDOLW\��6HUYLFH�4XDOLW\�$WWULEXWH��6(5948$/


